INSTRUCTIONS
MAKEUP VANITY

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY
INFORMATION.PLEASE READ AND KEEP FOR FUTURE REFERENCE.



Before You Start

Read through each step carefully and follow the proper order

Separate and count all your parts and hardware

/Give yourself enough room for the assembly process

ave the following tools: Flat Head Screwdriver, #2 Phillips Head
Screwdriver and Hammer

Please slow down or stop when the screw is tightened.

% Caution: If using a power drill or power screwdriver for screwing,
Otherwise it may cause the screws to peel off.

Helpful Hints

PEOPLE NEEDED FOR ASSEMBLY: 1-2

- Open your item in the area you plan to keep it to avoid excessive heavy lifting.

&

- Identify, sort and count the parts before attempting to assembly.
- Compression dowels are lightly tapped in with a hammer.
- Slides are labeled with an R (right) and L (left) for proper placement.

- Make sure to always face the point on the top of the Cam Lock towards the
outer edge.

- Use all the nails provided for the back panel and spread them out equally.

- Back panel must be used to make sure your unit is sturdy. "v'm"
- Do NOT use harsh chemicals or abrasive cleaners on this item. a e

3

- Never push, pull, or drag your furniture.

2-18



Board Identification




1000*400mm 399*151mm 399*151mm
@ one side @

Left side panel Right side panel
@ 365*151mm 1000*400mm @ 750*602mm
one side one side one side
AN ~ \
the other side Q _ \\
the ofher side the other sid
Median side plate panel Bottom plate panel Mirror board panel
@ 1000*121mm @ 135*120mm @ 968*151mm

e

// <>

~

£

Upper plate pamel Upper vertical plate panel Postnotum panel

968*150mm 300*40mm 202*133mm
9 ® ©

one side
the other side x

Front iron frame Drawer pad panel Small drawer panel

X2 @ X2

3-18




133*104mm

&

)

one side

X2

the other side

<&

Small drawer right side panel

133*104mm

N

Y

one side

X2

the other side

P

Small drawer left side panel

170*133mm

©

@ X2

Small drawer back panel

177*95mm
®

X2

<

Small drawer bottom panel

@ 465*114mm

\

Drawer right panel

® 465*114mm

\

Drawer left panel

@ 300*96mm @ 300*96mm @ 406*96mm
AN
\ 4 . \
one side A one side >
X2 X2 % X2
the other %
the other sid%
Drawer left side panel Drawer right side panel Drawer back panel
@ 415*293mm @ 570*396mm @ 948*435mm
X2

Drawer bottom panel

Left and right lower frame

Rear iron frame

4-18




4 % N N N )
m | | B N
@15X9.5mm @6X35mm @8X30mm @3.5X14mm

L @D x31+3) | @ [X31+3] | B |x36+3 | (B |x24+2

4 N N (12 N (2 )
@4X35mm @4*25mm 300mm 300mm

L ® [X35+3) ( (& |[X14+1) ( 7CL| X2 ) ( 7CR| X2 )

(i N (i N ([ N ([ )
/ / ” e
300mm 300mm M4*18 130*14*21mm

_7DL| X2 ) (7DR| X2 ) | ® | X6 )

4 N N N )

@ el =N
@23*20mm M6*40 kD

N x2 ) @ | x4 ) (@2 |Xiset)

4 N N 7 E )
@ @4X100(60)mm M6*25

L9 [X31+3) (@ | X1 ) | ® | X4

CAM BOLT INSTALLATION AS BELOW:

"

)

X

6-18




STEP2

7-18




STEP3

X9

STEP4

8-18



STEPS

X6 )

Second Holé\“*x\f}:%

9-18




STEP7 V i

STEPS8

10-18




STEP9

STEP10

11-18




STEP11

b 11 X4 15 X1 16 X4
e I &)

STEP12

15 X1 Y 17 X6
o~ 2




STEP13 i

: @ﬁyy ) Step 2

Step 3




STEP14

Third Hole

’
/7 \
/7 \
1 1
! 4 §
\ I~
~ \ 1 \\
N \ ’ >
\ | -
\ N [ |
\ 1 /-
\ ~ \ 7 he !
\ ~ o 1
- -
! 1




STEP16

Step 1




STEP17

Thread the light bulb lead through the pre-punched plate before
passing through the plastic nut to secure it to the plate and tighten
the plastic nut

13 X9

16-18




STEP18

Pass the bulb wire through the pre punched plate, and then
connect the adjacent bulbs successively through the wire head slot
on the opposite side (corresponding to the line of the same color).

When connecting the interface, please note
that the colors of the wires at both ends
correspond one by one.

same color correspond




STEP19

Install the tipping
restraint hard ware

@ N f@ N f@ N
—
[ L | N |
WALL "y
WALL
L '\ J
1.make mark on 2.drill two @6 3.put two
the wall holes on the wall  anchors in the

holes

(@

-

4 fix the device on the
wall by the long srews

5.Push the cabinet close to the wall so that
the two bases are close to each other, and
then put on nylon tie to tighten it.

18-18






